



AUG 08 2018

Brady Industries of Maryland, LLC 1200 Hampton Park Blvd. Suite 200 Capital Heights, MD 20743 Attn: Radley Olsen

Reference:

IFB#2000002563 - Custodial Equipment, Supplies, and Related Items/Services

Dear Mr. Olsen:

Acceptance Agreement

Contract Number: 4400008664

This acceptance agreement signifies a contract award to Brady Industries of Maryland, LLC for Custodial Equipment, Supplies, and Related Items/Services. The period of the contract shall be from 7/01/2018 through June 30, 2023 with the option to renew for three (3) one-year periods.

The contract award shall be in accordance with:

- This Acceptance Agreement;
- 2. The Terms and Conditions of IFB#2000002563, and all addenda;
- 3. Your bid dated May 17, 2018; and
- 4. The attached summarized Pricing Schedule.
- 5. Items Awarded: 8, 9, 10, 11, 15, 17, 21, 22, 27, 32, 33

Please note that this is not an order to proceed. A purchase order, which constitutes your notice to proceed, will be issued to your company. Please provide your Insurance Certificate according to Special Provisions Paragraph 15 within ten (10) days after receipt of this letter. Contract award documents may be viewed on the Fairfax County. Department of Purchasing and Supply Management website at: www.fairfaxcounty.gov/cregister.

Sincerely,

Michelle R. Pratt

Director

MRP/pc

Acceptance Agreement Contract 4400008664 Page 2 of 6

PRICING SCHEDULE

Item No.	Item Description	EST. QTY	UOM	Unit Price	Extension Price
8.	36580544280 - FILTER MEDIA FOR PRO TEAM SUPER COACH #100182 BACKPACK VACUUM CLEANER (round one)				
	Specifications: Foam filter media for hepa filter NO SUBSTITUTE				
	(Reference: Special Provisions, Paragraph 12.5)	100	EA	\$1.15	\$115.00
	Standard Spec: Pro-Team # 100343				
	Inside delivery 7-10 calendar days after receipt of				
	order. (Ref: Special Provisions, Paragraph 5)				
9.	36580818502 - WAND, ALUMINUM FOR PRO TEAM SUPER COACH #100182 BACKPACK VACUUM CLEANER				
	Specifications: One Piece, two-bend 56" aluminum wand.				
	NO SUBSTITUTE				
	(Reference: Special Provisions, Paragraph 12.5)	75	EA	\$34.73	\$2604.75
	Standard Spec: Pro-Team # 100102				
	Inside delivery 7-10 calendar days after receipt of				
	order. (Ref: Special Provisions, Paragraph 5)				

Acceptance Agreement Contract 4400008664 Page 3 of 6

Item No.	Item Description	EST. QTY	UOM	Unit Price	Extension Price
10.	O4578700504 - RING, WAND, FOR PRO TEAM SUPER COACH#100182 BACKPACK VACUUM CLEANER Specifications: Replacement ring for aluminum wands NO SUBSTITUTE (Reference: Special Provisions, Paragraph 12.5) Standard Spec: Pro-Team # 100100 Inside delivery 7-10 calendar days after receipt of order. (Ref: Special Provisions, Paragraph 5)	50	EA	\$1.14	\$57.00
11.	48510580177 - TOOL, FLOOR, W/BRUSH Specifications: E-Z glide floor tool w/14" brush Color: Purple NO SUBSTITUTE (Reference: Special Provisions, Paragraph 12.5) Standard Spec: Pro-Team # 101446 Inside delivery 7-10 calendar days after receipt of order. (Ref: Special Provisions, Paragraph 5)	100	EA	\$27.29	\$2729.00

Acceptance Agreement Contract 4400008664 Page 4 of 6

Item No.	Item Description	EST. QTY	UOM	Unit Price	Extension Price
15.	36580206849 - VACUUM BAG, PAPER, FOR UPRIGHT VACUUM CLEANER For Tennant 3120 upright vacuum cleaner	100		\$6.42	\$642.00
	NO SUBSTITUTE (Reference: Special Provisions, Paragraph 12.5)		PK		
	Standard Spec: Pro Team 1014505 Inside delivery 7-10 calendar days after receipt of order. (Ref: Special Provisions, Paragraph 5)				
17.	66525141009 - BURNISHER 2000 RPM, 20" ELECTRIC HIGH SPEED Warranty: minimum of one- year parts and labor Standard Spec: Tennant BR- 2000 DC or approved equal Manufacturer: TORNADO Model/Cat. PG. Nos.: 98486 DC2000 Glazer Inside delivery 7-10 calendar days after receipt of order. (Ref: Special Provisions, Paragraph 5)	25	EA	\$776	\$19,400.00

Acceptance Agreement Contract 4400008664 Page 5 of 6

Item No.	Item Description	EST. QTY	UOM	Unit Price	Extension Price
21.	FILTER BAGS, CLOTH FOR THE B5 BATTERY BURNISHER NO SUBSTITUTE (Reference: Special Provisions, Paragraph 12.5) Standard Spec: Tennant # 692824 Inside delivery 7-10 calendar days after receipt of order. (Ref: Special Provisions, Paragraph 5)	50	EA	\$21.92	\$1096.00
22.	27" PROPANE BURNISHER 22HP Standard Spec: STONEKOR Model # 27" DUST CONTROL ROBIN or approved equal Manufacturer: Aztec Model/Cat. PG. Nos.: 070-27-LRD(Stonekor) Inside delivery 10-14 calendar days after receipt of order. (Ref. Special Provisions, Paragraph 5)	5	EA	\$2893	\$14,465.00
27.	48565858544 - WET/DRY VACUUM, ELECTRIC Warranty: ten years on all housing and frames and all other parts shall have a three year parts and one year labor warranty. Standard Spec: Task Pro Model #TP20wo or approved equal Manufacturer: TORNADO Model/Cat. PG. Nos.: 94236 Taskforce20 Inside delivery 7-10 calendar days after receipt of order. (Ref: Special Provisions, Paragraph 5)	15	EA	\$405.81	\$6087.15

Acceptance Agreement Contract 4400008664 Page 6 of 6

Item No.	Item Description	EST. QTY	UOM	Unit Price	Extension Price
32.	MUST INCLUDE THE FOLLOWING ACCESSORIES: 33' High Pressure Hose stored on machine. Built in cord wrap 23" Power Cord Chemical Feed Hose Attachment Standard Spec: Karcher 1.520-149.0 or approved equal Manufacturer: Mi-T-M Corporation Model/Cat. PG. Nos.: JP- 1002- 3MEI Inside delivery 7-10 calendar days after receipt	40	EA	\$856.74	\$34,269.60
33.	of order. (Ref: Special Provisions, Paragraph 5) 03141208763 - AIR MOVER, 3 SPEED Unit must have a handle and wheels installed for easy movement. Standard Spec: Tennant 444510 or approved equal Manufacturer: TORNADO Model/Cat. PG. Nos.: 98786 Windshear 3200 (includes wheel and handle) Inside delivery 7-10 calendar days after receipt of order. (Ref: Special Provisions, Paragraph 5)	15	EA	\$151.16	\$2267.40